12

|||||||||||||||||||||||||||||||||

10 11

22



| |
| (mm) (m) gmzlsg |
36 1

93 205
1953| 28925 13 | 3602 | 780 | 6500 |, 50 a2 5307
2,458
2 1
28 2 19
tos9| 4926 o | 276 | 710 | a3 | s 2450
1961 361028 2% | 238 | 533 | 2402 767
: : i 1540 176
4 48 327
1965| 40917 bu | 4738 | 541 | 283 " 153
5 4 33
1972| 47916 20 | 1881 | 615 | 4063 s Tone
1082| 5781 10 | 1883 | 545 | 3636 % 65
1983| 58928 10 | 2456 | 557 | 3608 23 49
19%0| 2920 19 | 2503 | 464 | 2460 62
1995| 7512 1771 | 423 | 2242 3 1
1008| 10922 7 1449 | 449 | 2178 5 4
1999| 11630 1215 | 457 | 2208 1 1
2004| 161020 23 | 2887 | 755 | 5285 ws 1251
||
! H16 2l
ﬂ alll]

]

o 16 23

o 16 10 23

16 10 23 1/10

23




16 10

23

16 10

23

10,000 0 10,000 0 0 0 0 0
20,000 0 20,000 0 0 0 0 0
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10,000 520 10,520 2 2 0 0 4 o
10,000 600 10,600 2 0 0 0 2 )
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